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Homework Problem Set

Graph the following and identify the key features of the graph.
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Module 4 Quadratic Functions

3. gx)=—2(x —3)(x + 5)

9q(0)= -a(0-3)(0t5)
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5 px)=x*—2x+1 6. q(x) = 4x* + 20x + 24
pPCx)= (x-1) (x-1) Y(x*+Sx +b)
. . ) Y (x+3)(x+d)
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7. Arocket is launched from a cliff. The relationship
between the height of the rocket, h, in feet, and the time
since its launch, t, in seconds, can be represented by the
following function:

h(t) = —16t* + 80t + 384.

A. Sketch the graph of the motion of the rocket.
Key FeatureS

N = -1 >-5+-24) x=irnt (8,-3)
~l(E-3)(t+3) Yrink: (38Y4)
axis of sym x=2.5
vertex (3.5) 484)
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B. When does the rocket hit the ground?

3 seconds (xAnt) 500 /\
375

C. When does the rocket reach its maximum height?
250

Ot 3.5 seconds (vertex)

D. What is the maximum height the rocket reaches?

wn
—
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484 Feet (Nertex)

E. At what height was the rocket launched?

3384 feet ( Y -intercept)
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. Given the x-intercepts for the graph of a quadratic function, write a possible formula for the
quadratic function, in factored form.

A. Xx-intercepts: —1and —6 B. x-intercepts: —2 and %
L
'PCX):Q&H)CX'HD} fx)= qO(;Jr;L) C><'-§>

f065= a (4D (3x+)

C. x-intercepts: —3 and 0 : D. x-intercept: 7

F(x) = ax(x+3) Fx)= alx=1* orR
= a (=1(x=T)
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. Suppose a quadratic function is such that its graph has
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x-intercepts of —3 and 2 and a y-intercept of 6.

A. Write a formula for the quadratic function. CO/ @
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B. Sketch the graph of the function. [I
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